B Y=FL—IL-YRTL

(| sBG-FL/FLL | | sBG-FL/FLL

4 N s
'

19

I
L s
T? | JU

Lo

A%

N J N Y
& mm & :mm
O fH3~& Oy ok L—JL<E %ZK”EIZL%EE %?ﬁlﬁljn):‘/l\ X

WUES | 5a el | B | s | BORETYIR =7l B | &S | E0F | BMRLAR|  -l0B%R| ¢ | co | Mro | Mpo | Myo [<7Uv7| L=
H W L | Bxy [M]|S BftR | Too | N Wi | Hi1 F dXDxh Lowax ko) | (kgim)

SBG15FL | 24 | 3 | 16 | 47 |60.8 | 38Xx30 | M5 | M4 |388 | 21 | 7.2 | @35 4 | 5 15 | 15 | 60 | 45X75%53| 20 3000 | 833 | 134 | 0.07 | 0.05 | 0.05 | 018 | 145
SBG20FL | 30 | 35 |21.5| 63 | 77.2| 53X40 | M6 | M5 |50.8 |265| 9 |M6X075 | 7 | 98 20 | 175 | 60 | 6X95%85 | 20 4000 | 142 | 25 | 022 | 018 | 0.18 | 042 | 220
SBG20FLL| 30 | 35 |21.5| 63 |93.2 | 53X40 | M6 | M5 |66.8 |265| 9 |M6x075 7 | 98 20 | 175 | 60 | 6X95%85 | 20 4000 | 169 | 365 | 028 | 0.31 | 0.31 | 054 | 2.20
SBG25FL | 36 | 65 | 235 70 | 86.9 | 57X45 | M8 | M6 | 59.5 | 29.5 | 10 | M6X0.75| 6.5 | 9.8 23 | 218 | 60 | 7XMX9 | 20 4000 | 209 | 392 | 035 | 031 | 03 | 062 | 3.10
SBG25FLL| 36 | 65 | 235 70 |106.4| 57x45 | M8 | M6 | 79 | 295 | 10 | M6x0.75| 6.5 | 9.8 23 | 21.8 | 60 | 7X1X9 | 20 4000 | 246 | 48 | 043 | 049 | 048 | 078 | 3.10
SBG30FL | 42 | 7 | 31 |90 | 99 | 72x52 |M10| M8 | 704 | 35 | 12 | M6X0.75| 85 | 10.7 28 | 25 | 80 | 9x14x12 | 20 4000 | 292 | 538 | 059 | 049 | 048 | 110 | 445
SBG30FLL| 42 | 7 | 31 | 90 |121.5| 72x52 |M10| M8 | 92.9 | 35 | 12 | M6x0.75| 85 | 10.7 28 | 25 | 80 | 9x14x12 | 20 4000 | 353 | 67.9 | 074 | 0.79 | 0.78 | 144 | 445
SBG35FL | 48 | 7.5 | 33 | 100 |112.6| 82x62 |M10| M8 | 80.4 | 40.5 | 13 | M6x0.75| 9.5 | 10.7 34 | 29 | 80 | 9x14x12 | 20 4000 | 388 | 686 | 094 | 0.74 | 0.72 | 157 | 640
SBG35FLL| 48 | 7.5 | 33 | 100 [138.1| 82x62 [M10| M8 [105.9 | 405 | 13 | M6X0.75| 9.5 | 10.7 34 | 29 | 80 | 9x14x12 | 20 4000 46 | 904 | 124 | 13 | 128 | 214 | 640
SBG45FL | 60 | 10 | 37.5| 120 |140.4|100x80 |[M12|M10| 98 | 50 | 15 | PT1/8 | 105 | 11 45 | 38 | 105 | 14x20X17 | 225 | 4000 | 616 | 1106 | 1.98 | 156 | 1.54 | 2.96 | 11.25
SBG45FLL| 60 | 10 | 37.5| 120 |172.4|100x80 |[M12|M10| 130 | 50 | 15 | PT1/8 | 105 | 11 45 | 38 | 105| 14x20x17 | 225 | 4000 | 755 | 1385 | 245 | 233 | 23 | 375 | 1125
SBG55FL | 70 | 13 | 43.5| 140 |164.8| 116X95 |[M14|M12| 118 | 57 | 17 | PT1/8 | 12 | 11 53 | 45 | 120 | 16X23X20 | 30 4000 | 912 | 156.9 | 3.37 | 2.69 | 2.65 | 449 | 1525
SBG55FLL| 70 | 13 | 43.5| 140 |202.8| 116X95 |[M14|M12| 156 | 57 | 17 | PT1/8 | 12 | 11 53 | 45 | 120 | 16X23X20 | 30 4000 | 111.8 | 196.6 | 4.19 | 4.05 | 3.97 | 568 | 15.25
SBG65FL | 90 |17.5|53.5| 170 |195.2(142X 110/ M16|M14| 147 | 725 | 23 | PT1/8 | 15 | 11 63 | 585 | 150 | 18X26X22 | 35 4000 | 147.9 | 2401 | 6.17 | 4.85 | 475 | 870 | 23.90
SBG65FLL| 90 | 17.5 | 53.5| 170 |255.2(142X 110/ M16|M14| 207 | 725 | 23 | PT1/8 | 15 | 11 63 | 585 | 150 | 18x26X22 | 35 4000 | 189.1 | 3204 | 818 | 834 | 814 | 95 | 23.90

CB)ERME Co 5 EREE






